EARAROBEEIERT — 2 N— IBISH —F

20185 7H290 (B) 2EI#AE2H

Ll T oR2m B (RS)

Z=)

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — | Z (%) 16000 B

[A~&£] 17 :7,000,000  ~ 23 :2,800,000 37 :1,800,000

/473 11,100,000 5 7& :700,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
FiBEXR . = BRER (BER)
117l12| T A +0OL # 2 5_0 1.(3_7).0 2-2 33.3| 77.9 | 1 (438) e
R:A—KAH+A7 B:57z7L—) BREM Ty RKFv T - T7—L
. 4 o2 | KHEEE 1:37.1 3-3 33.4|76.6 | 5 426 | TTRERF (5EiH)
218113 Ea27eAhHY 54.0 (1/2) (—) BRETF
R:KU—LPv—=— BE27TLTv— HE ik
> - 4 2 | IHRS 1:37.2 5-5 33.1| 75.9 | 10 438 | BIECHE (EH)
3|57 |>E1EA1H 54.0 (3/4) (—) |HEERS
RTHINEry b BivEIhFE ISHISHT 77— LI
e > 2 | Gfafs 1:37.3 1-1 33.8| 722 | 6 512 | RIEBEN (FH)
4 ANy VR " 54.0 (3/4) (o) | W 5 x—n
LTS TVERR B:T5> v FATLANIST
. = N —p =1 : — ZHET (ER)
5 NAHEF 2T it 2 =" 1(737t;1 5-5 33.6| 729 | 2 (434) EEEW;
AN T =TI BN HFIR—Y HBE77— L4
2 | fBXKth— 1:37.4 3-3 33.6| 729 | 3 450 | FHEIEX (i)
6 *F 2=l ¥ 540 (7e) (—) | @ x+OybT7—L
R:Vvxa91/ B:¥ai— (/) HEa-KL—Y3> AET7
o se s KEHRIR : - BEHL (EH)
7 FATAEY ST o2 P 1(37t;5 8-5 387|713 7 (436) L
LA bk—b B TSFFLA Y
8 J=TlvL1a fo2 | RES 1:(358).4 10-9 | 34.0| 61.5 | 11 | 468 g*d%g (=#)
R:707% BNRETruvas ) gm Em
S N o2 | eEAA 1:38.6 11-12 | 34.0| 59.8 | 8 444 | BIUER (EiH)
9 R 54.0 (1 1/2) oy | W) #5TLy k5T 5747
L:Vv2ay14 B:T7ATAT)ER IR A
5o = # o2 | ENEAS 1:38.7 1-1 34.4| 56.4 | 12 | 478 |HERZ (EH)
(711 fTYa-—ra=x+t 54.0 (172) o | @) 32ETa-77-n
o4 m Bix v ANLTES Fo e
— “ . HIDEE :39. - . . 25B— (E#)
1lslg| =2a—v—uUxL o2 | e 1(349)4 55 |35.3| 45.8 | 4 (416) el
R —LPv—Z=— BAT1ANT—4 ERT7—L
ARBTG5 : — WE—F (EH)
12 6l xVT— o2 3. 1.(450).2 9-9 35.9| 36.8 | 14 (418) e
RTAINRT S~ Bt —E—LFq— BT T H TS
R s 2 | AlEEA 1:40.3 13-13 351395 | 9 472 | REEEZ (EH)
13ff 10| 7 —F 71 54.0 (172) o |2t
R:ANT—"FI BItELT—F pllke:]
SE 4 2 | HE—H 1:40.5 14-14 | 35.2| 37.5 | 13 | 450 |EERRME (i)
1411 |1 L1972 54.0 (1 1/4) (=) MEE
XL JANZ N B:NYTHS 335 55 Riis
@ 21 L
£y 45.8-33.5
NE>&4 L4 |13.1-11.8-13.0-13.3-12.3-11.0-10.6-11.9
® I—F—@EBIERL
13—7-
23—7F—
== 5,12(3,13) (7,8,14)9,6,2(4,11)10-1
Mal=5r= 5,12(3,13) (7,8,14,9) (2,6)11,4-10,1
[ RN
B Op 12 380H 794K 12-13 800 & 7-8 480/ &R 7-12-13 18,490M
7 B 12 160 7-12 2,540M | | B E 12-13 1,750 | | 3:&&E [ 12-13-7 74,850
13 280M 7-13 3,200 B H 12-13 3,070H
7 770M

ABICOVWTRDTEEERROODE. TR LIV,




